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rain_day evai day, evap_day, sf day, interF_day, gwF day,
rech_day, inf day, gwOUT day, intake_day, intakelrr_day

| | oneStep_imp | |

i

| | oneStep_per | |

i

| | oneStep_inf | |

i

| | oneStep_pond | |

1]

| | oneStep_gw | |

| | oneStep_intake | |

i

rain_day = rain_day + r

evai_day = evai_day + evai

evap_day = evap_day + evap

sf day = sf day + sf

interF_day = interF_day + interF

gwF _day = gwF_day + gwF
rech_day = rech_day + rech

inf day = inf day + inf

gwOUT day = gwOUT day + gwOUT
intake_day = intake_day + intake
intakelrr_day = intakelrr_day + intakelrr

e

T
A 4

qOUT day = (sf.day + (1 - iPcent) * interF_day +
gwF_day + domdis) * aA - (intake_day +
intakelrr_day) + effluent

!

qOUTcum day = qOUT day + qIN_day

y
( return )
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evai=0
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evai = ev
iDep = iDep - ev

ev
evai
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iDep > ev

iDep >0

T

evai = iDep evai=0
iDep =0 iDep=0
Dep +r
iDep > iDepC
l A
sfi = iDep - iDepC sfi=0
iDep = iDepC iDep = iDep

return
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oneStep_per

agfCapa = (agfCeil

evap =0
- gWE) * sCoef

rech=0

interF = 0

devap_(j) =0
evap = evap + ev
pDep(j) = pDep()) - ev

* pArea(j) / (aA * (1 - iPcent))

pDep(J) >ev

r
ev

evap
agfCapa
agfCeil
sCoef
gwE
rech
interF
sfp
sfp_each
pDepM
pSto
pArea()
aA

iPcent
pDep()
pDepC()
theta()
()

00
nsThick
irrFlag
rech_
interF_
returnF_
]

True

devap_(j) = ev - pDep(j)
evap = evap + pDep(j) * pArea(j) / (aA * (1 - iPcent))

pDep(j) = 0

devap_(j) = ev
evap = evap
pDep(j) =0

T

—<<

(theta(j) - tr(j)) * nsThicl
> devap_(j)

evap = evap + devap_(j) * pArea(j) / (aA * (1 - iPcent)) T

theta(j) = theta(j) - devap_(j) / nsThick

evap = evap + (theta(j) - tr(j)) * nsThick * pArea(j) / (aA * (1 - iPcent))
theta(j) = tr(j)

(theta(j) - tr(j)) * nsThicl
>0

\/

(j = 1) And (irrFlag=true)

theta(j) = theta(j) + (r + irrg * aA / pArea(j) + pDep(j)) / nsThick

pDep(j) = 0

A,

theta(j) = theta(j) + (r + pDep(j)) / nsThick
pDep(j) =0

[Tomaror] ]
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interF =

rech = rech + rech_* pArea(j) / (aA * (1 - iPcent))
interF + interF_* pArea(j) / (aA * (1 - iPcent))

theta(j) > t0(j)

y

returnF_ = (theta(j) - t0(j)) * nsThick

returnF_=0

theta(j) = theta(j) - returnF_/ nsThick

returnF_ > pDepC(j)

sfp_each(j) = returnF_ - pDepC(j)
sfp = sfp + (returnF_ - pDepC(j)) * pArea(j) / (aA * (1 - iPcent))

pDep(j) = pDepC(j)

sfp_each(j) = 0
sfp=sfp
pDep(j) = returnF_

1

pDepM = pDepM + pDep(j) * pArea(j) / (aA * (1 - iPcent))
pSto = pSto + (theta(j) - sl(j).tr) * nsThick * pArea(j) / (aA * (1 - iPcent))

return
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L
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LOOPN T
ku :

interF_= (ku_*

ku_ = Ku(theta)
rech_=ku_* k0 * tempDT

ik0 * tempDT) * slope

rech_
interF_
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S
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| rech_= (theta - tr) * nsThickl

y

rech_>= @

rech_ = agfCapa_ |

| I

y

rech =

aqgfCapa_=

theta = theta - rech_/ nsThick

rech + rech_
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—_—

| interF_= (theta - tr) * nsTh\ckl

y

interF = interF + interF_
theta = theta -
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slope
theta
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k0, ik0, theta, tr, t0, n j

[ ku=(theta-t) /(@0 -tr)*n

A

( return )
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sf
sfi
( oneStep_inf ) sfp
sfp_each()
iPcent
agfCapa
aqfCeil
sf = (iPcent * sfi + (1 - iPcent) * sfp) sCoef
agfCapa = (aqgfCeil - gwE) * sCoef gwE
tmpltmp2
tmplinf
infcPotential():
agiCapa <0 ;rKcAreaEacf?()‘
inf
tmpl =0 sfi > infcPotential(0)
tmp1 = infcPotential(0) tmpl = sfi
tmplinf = tmp1 * infcAreaEach(0) / aA tmpinf = tmp1 * infcAreaEach(0) / aA
sf = sf - tmpinf sf = sf - tmpinf
T
infcArea > 0

inf = tmpl * infcAreaEach(0) / infcArea

-0 |

agfCapa <0

sfp_each(j) >
infcPotential(j)

tmp2 = infcPotential(j)
tmplInf = tmp2 * infcAreaEach(j) / aA
sf = sf - tmpInf

tmp2 = sfp_each(j)
tmplinf = tmp2 * infcAreaEach(j) / aA
sf = sf - tmpinf

infcArea > 0

inf = inf + tmp2 * infcAreaEach(j) / infcArea

T

return
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oneStep_pond

sf2pond = sfi * pondAreaEach(0)
sf = sf - sf2pond / aA sf2pond
pondV(0) = pondV(0) + sf2pond sfi :
pondAreaEach():
sf :
aA .

T < pondV/(0) > )> pondv()
pondPlanDisEach(0 pondPlanDisEach():
\/ pondDis()

pondCapaEach():
v v i
pondDis = pondPIanDisEach(O)l | pondDis = pondV/(0) | 2=
I T sfp_each()

|

| pondV/(0) = pondV(0) - pondDis |

—<

A

pondV(0) >
pondCapaEach(0)

pondDis = pondDis + (pondV(0) - pondCapaEach(0))
pondV(0) = pondCapaEach(0)

| sf = sf + pondDis / aA

j=2

sf2pond = sfp_each(j) * pondAreaEach(j)
sf = sf - sf2pond / aA
pondV(j) = pondV(j) + sf2pond

T pondV(j) >
pondPlanDisEach(j
y y
pondDis = pondPlanDisEach(j) | | pondDis = pondV(j) |

|
:

| pondV(j) = pondV(j) - pondDis |

pondV(j) >
pondCapaEach(j)

A

pondDis = pondDis + (pondV(j) - pondCapaEach(0))
pondV(j) = pondCapaEach(j)

!

| sf = sf + pondDis / aA

>3

T

return
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A A

gWF = (QWE - rivE) / rivT * rivKO * rivA / aA

tempF = domdis / 24 + sf + interF * (1 - iPcent) + qIN_day / 24 / aA
tempgwF = rivKO * rivA / aA

| .QWF = -tempgwF

tempF >= tempgwF

gwF = -tempF

|
|

tempR = (1 - iPcent) * rech - gwF + inf * infcArea / aA + wslk - swglk - well

irrFlag=true

tempR = tempR - irwell |

gwE > agfFloor

gWOUT = gwKO * (gwE - agfFloor) * gwCL * gwSLOPE | [ gwout=0]

gwE

v

gwF

sf

interF

domdis
qIN_day

T

rivk0

ivA

aA :
tempF,tempgwF:
tempR H
iPcent

rech

inf

infcArea
wslk

swglk

well

irrFlag

irwell
aqfFloor
gwOUT
awko

gwCL
gWSLOPE
gwiN_day
sCoef

true

gWE = gwE + (tempR + (gwIN_day / 24 - gwOUT) / aA) / sCoef

A

return )
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( oneStep_intake )

A
tempF = (sf + (1 - iPcent) * interF + gwF + domdis / 24) * aA + qIN_day / 24

T irrFlag = True And
intakelrrDemand > O,

y
T
———< tempF >= intakelrrDemang>——— intakelrr = 0
N N
intakelrr = intakelrrDemand | | intakelrr = tempF |
! e
tempF = tempF - intakelrr iPcent
interF
gwF
domdis
intakeDemand > 0 aA
alN_day
inFlag : true
intakelrrDemand:
intakeDemand:
tempF >= intakeDemand intakelrr
intake
A A
intake = intakeDemand | | intake = tempF

A

( return )
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3-5 SHER
[km2] 04225 2.855 04225 2.855
0.042 0.033 0.042 0.033
[km2] 0.103 0.849 0.160 1.270
[mm] 2 2 2 2
[m] 2 2 2 2
ol [km2] 0.113 0.013 0.043 0.002
[mm] 50 50 50 50
0.772 0.772 0.772 0.772
0.589 0.589 0.589 0.589
- 417 417 417 417
[cm/s] | 1.06E-05| 1.06E-05| 1.06E-05 | 1.06E-05
InterFlow [cm/s] | 1.06E-04| 1.06E-04| 1.06E-04 | 1.06E-04
o2 [km2] 0.048 1.068 0.019 0.205
[mm] 5 5 5 5
0.772 0.772 0.772 0.772
0.589 0.589 0.589 0.589
- 417 417 417 417
[cm/s] 0.0005 0.0005 0.0005 0.0005
InterFlow [cm/s] 0.005 0.005 0.005 0.005
o3 [km2] 0.160 0.926 0.200 1.378
[mm] 5 5 5 5
06073 06073 06073 06073
0.589 0.589 0.589 0.589
- 417 417 417 417
[cm/s] | 0.000071 | 0.000071 | 0.000071 | 0.000071
InterFlow [cm/s] | 000071 | 000071 | 0.00071 | 0.00071
[km2] 0 0 0 0
[mm/hr] 200 200 200 200
[mm/y] 354 7 134 2
5 15 5 15 5 15 5 15
9 7 9 7 9 7 9 7
[mm/y] 908 994 58 67
[mm/y] 38 43 51 59
[mm/y] 0 0 175 204
[mm/y] 16 18 16 18
[mm/y] 264 264 264 264
[mm/y] 245 5 92 1
[m] 8.2 18.8 8.2 18.8
[m2] 8,775 3,956 8,775 3,956
[m] 1 1 1 1
[cm/s] | 1.00E-04 | 1.00E-04 | 1.00E-04 | 1.00E-04
[m] 6.3 9.2 6.3 9.2
[m] 8.6 19.0 8.6 19.0
[m] -30.0 -30.0 -30.0 -30.0
0.05 0.05 0.05 0.05
[cm/s] | 1.00E-03 | 1.00E-03 | 1.00E-03 | 1.00E-03
- 0.00341 | 0.00344 | 000341 | 0.00344
[m] 355 7521 355 7521
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3-6

H5
mm/ PDE SHER PDE SHER
9 1,007 1,371
N1 7 18 18
8 0 0
10 42 58
ouT| 11 0 1,267
12 983 66
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[m]

2m

[km?]

[mm]

50mm

[cm/s]

InterFlow

[cm/s]

(km?]

[mm]

5mm

[cm/s]

InterFlow

[cm/s]

[km’]

[mm]

5mm

[cm/s]

InterFlow
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1/10

pF
0, 0,
0.772 0.589 4.17
0.394 0.120 4.38
0.400 0.077 3.37
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[mm/y]

[mm/y]

[mm/y]

[mm/y]

[mm/y]
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Qus =Q. " P 1000/ A

A [ ]
m3 [ ]

Q
P [ ]
Q
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[m3/ ]

Q.=Q, P’ (1- A)+C,~ A, 1000/ A
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Qc [m3/ / ]
P [ 1
As
C:S
Qe [mm/ ]
Q = <, “Q.  P” 1000/ A
‘1-¢c, °°
Qc [m3/ / ]
P [ 1
Q [mm/ ]
C, 5 10%
[ 1
Q, =(Q, +Q,)” P* A 1000/ A" 0.15

or

=Q.,” P.+Q,  P,~ A ~1000/A" 0.15
Qc [m3/ / ]
P [ 1
P, [ 1
P, [ 1]
As
Qsz [mm/ ]
Qu [m3/ [ ]
A [ 1
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[m]

[m2]

[m]

[cm/s]

[m]

[m]

[m]

[cm/s]

[m]

M
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